MNGUJ COIRspa

SPARE PARTS SUITABLE FOR MECHAFIN®

MECHAFIN MG3-300A
ITEM ~ PartNo DESCRIPTION |ORIGINAL REF.| PACK
> 1 20.00.300.3 | Torcia completa Mns 300AML3 - Complete MG torch 300Amt.3 | T3
COMPLETE £ 20.00.300.4  Torcia completa Mg3 300AmL. 4 - Complete MG torch 300A mt. 4 e 1
TORCHES BE R A -2 | &=
| 20.02.300.12 }_"ljmlg gas _|:_11 012 810 -Gasnozzie 012 STD T B A
| 20.02.300.13 | Ugello gas L=66 813 - Gas nozzle 613 53003 10
A : |
6 N [ 2003300 | Isolante ugello - Gas nozle insulator ] [10]
il BES _ === o apsaly N s i Wi
| 2005300 | DiffusoregasM6 i - Tip holder M6 53002 | 10
[ Sl P R 12006300 | Lancia 45° " - Swan neck 45° [ 500 |1 ]
P - ma | = |
P T T z L |
= 5.u3 . o TSR
1 20.01.300.08 | Punta guidafilo M6x31608  -ContacttipM&x31008 100
= | 20.01.300.10 | Punta guidafilo M6x31 6 1,0 - Contact tip M6x31 81,0 PER UGELLO | 100
| 20.01.300.12 | Punta guidafilo M6x31 6 1,2 ~ -ContacttipM6x31 1.2 | sT0 L=71 | 100
| 20.01.300.16 | Punta guidafilo M6x31 8 1,6 - Contact tip M6x31 0 1,6 100
| 20.01.300.08AG| Punta guidafilo Cu-Ag M6x31608 ~ - Contact tip Cu-Ag M6x31 00,8 | 100
f— 20.01.300.10AG _Punta guidafilo Cu-Ag M6x31 1,0 - Contact tip Cu-Ag M6x31 0 1,0 PER UGELLO | 100
| 20.01.300. 12AG[ _Punta guidafilo Cu-Ag M6x31 812 - Contact tip Cu-AgM6x31 012 | STD L=71 | 100
. B4 20 01.300.16AG Punta guidafilo Cu-Ag M6x31 916 ) - Contact tip Cu-AgM6x31 0 1,6 100
IN ALTERNATIVA per Ugello gas L= 7imm PUNTE GUIDAFILO M6x33 vedi pag.104
Per Ugello gas L=66mm PUNTE GUIDAFILO M6x28 vedi BZ 25 pag.40
MECHAFIN MG4-400A
ITEM Part No N DESCRIPTION | ORIGINAL REF| PACK
50w | 20.02.400.15 | Ugello gas & 15,4 STD - - Gas nozzle 0154 STD | 54003 '_"_1_0__:
E | 20.02.400.14  Ugello gas 814 - Gas nozzle @ 14 | 54004 | 10
[Pe ! S == S i
0_ RS | 2003400 | Isolante ugello _ -Gasnomeinsuatr I [}
] el P TR i 0 LN Tt
5 | 20.05.400 | Difusore gas M8 - - Tip holder M8 54002 | 10 |
) | l =TI A E S ]
| 2006400 | Lanciads® - Swan neck 45° oo [eerr: [ 1
| S LN X [ i
K | 20.01.450.08 | Punta guidafilo M8x33 8 0,8 - Contact tip M8x33 0 0.8 T 100
=D | 20.01.450.10 | Punta guidafilo M8x33 8 1,0 - Contact tip M8x33 0 1,0 A | 100
| 20.01.450.12  Punta guidafilo M8x33 8 1,2 - Contact tip M8x33 0 1,2 o | 100
| 20.01450.16 | Punta guidafilo MBx33616 - Contact tip M8x33 01,6 T | 100
YR [ 2001 4&0&&6 Punta guidatilo Cu-Ag M8x33 8 0,8 - Contact tip Cu-Ag M8x33 @ 0,8 | 100
| 20.01.450.10A6| Punta guidafilo Cu-Ag M8x33 81,0 - Contact tip Cu-Ag M8x33 0 1,0 [ 100
20.01.450.12AG  Punta guidafilo Cu-Ag M8x33 8 1,2 - Contact tip Cu-Ag M8x33 @ 1,2 100
= | 20.01.450.16AG| Punta guidafilo Cu-Ag M8x33 81,6 - Contact tip Cu-Ag M8x33 8 1,6 | | 100
famm— - e e
2[} 01.450.08H/ Punta guidafilo CuCrZr M8x33 @ 0,8 - Contact tip CuCrZr M8x33 0 0,8 100
| 20.01.450.10H| Punta guidafilo CuCrZr M8x33 6 1,0 - Contact tip CuCrZr M8x33 0 1,0 il | 100
| 20.01.450.12H| Punta guidafilo CuCrZr M8x33 8 1,2 - Contact tip CuCrZr M8x33 © 1,2 | 100
20 0.01.450. 16H] Punta guidafilo CuCrZr M8x33 8 1,6 - Contact tip CuCrZr M8x33 @ 1,6 | [ 100 |

IN ALTERNATIVA PUNTE GUIDAFILO M8X35 Vedi pag.105

NEW COIR S.p.A. is in no way affiliated with MECHAFIN". The parts advertised for sale are not genuine MECHAFIN" parts, but are parts made for and by NEW COIR S.p.A.
Reference to MECHAFIN" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine MECHAFIN® parts in place of NEW COIR S. p.A.parts.

112

MIG



M NEW COIRspa SPARE PARTS SUITABLE FOR MECHAFIN® MIG

MECHAFIN MG5-500A

ITEM [ PariNo [ ~ DESCRIPTION i __[ORIGINAL REF] PACK |
[ERPi ks 20.02.500.17 | Ugello gas @ 17 STD - Gas nozzle 017 STD [ 55003 [ 10 |
| |
g | 1= i
2003500 | Isolante ugello - Gas nozzle insulator [ 10 |
'~ — — \ | |
0 ) | |
= A - = == |
=5 i 2005500 | Diffusore gas M8 ) - Tip holder M8 | 55002 | 10 |
Laal ] |
[ 1 |
2006500 | Lancia 45° - Swan neck 45° | s5020 | 1
SR | I
| I
|
| !
| | 20,01.450,08 | Punta guidalilo M8x33 8 0,8 - Contact tip M8x33 0 0,8 [ 100 |
| 20.01.450.10 | Punta guidatilo M8x33 @ 1,0 - Contact tip M8x33 8 1,0 5 100
=D | 20.01.450.12 | Punta guidafilo M8x33 8 1,2 - Contact tip M8x33 01,2 | 100
20,01.450.16 | Punta guidafilo M8x33 8 1,6 - Gontact tip M8x33 0 1,6 i 100 |
| 20.01.450.0846| Punta guidatilo Cu-Ag M8x33 @ 0,8 - Contat tip Cu-Ag M8x33 0.0,8 100
' 20.01.450.10AG, Punta guidafilo Cu-Ag M8x33 81,0 - Contact tip Cu-Ag M8x33 8 1,0 100 |
20.01.450.12AG Punta guidafilo Cu-Ag M8x33 8 1,2 - Contact tip Cu-Ag M8x33 8 1,2 100 |
20.01.450.164G  Punta guidafilo Cu-Ag M8x33 8 1,6 - Contact tip Cu-Ag M8x33 @ 1,6 100
=D —= L '
20.01.450.08H Punta guidafilo CuCrZr M8x33 6 0,8 - Contact tip CuCrZr M8x33008 | T 100]
20.01.450,10H| Punta guidafilo CuCrZr M8x33 81,0 - Contact tip CuCrZr M8x33 8 1,0 | 100
20.01.450.12H Punta guidatilo CuCrZr M8x33 81,2 - Contact tip CuCrZr M8x33 @ 1,2 100
| 20.01.450.16H| Punta guidafilo CuCrZr M8x33 B 1,6 - Contact tip CuCrZr M8x33 8 1,6 | 100

IN ALTERNATIVA PUNTE GUIDAFILO M8x35 Vedi pag.105

NEW COIR S.p.A. is in no way affiliated with MECHAFIN®. The parts advertised for sale are not genuine MECHAFIN' parts, but are parts made for and by NEW COIR S.pA.
Reference to MECHAFIN' machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine MECHAFIN® parts in place of NEW COIR S.p.A.parts. 1 1 3



	112
	113

